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KEY ANSWERS FOR OBJECTIVES

( PART : A—OBJECTIVE )

( Marks : 25 )

1. Put a Tick (3) mark against the correct answer in the
brackets provided : 1×15=15

(a) (ii) HCl

(b) (ii) Cholecystokinin and secretin

(c) (iv) ptyalin

(d) (iii) Glycogen

(e) (iii) node of Ranvier

(f) (ii) resting potential
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(g) (i) Schwann cells

(h) (ii) Ca

(i) (iii) Alveoli

(j) (ii) total lung capacity

(k) (iv) 4

(l) (i) Filtrate hydrostatic pressure

(m) (iii) right auricle and right ventricle

(n) (iv) aldosterone

(o) (ii) Menstruation, FSH rise, LH surge,
ovulation, luteal phase
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